	Fiche 115
	Calcul littéral 
	4E3

	
	Opérations et équations
	


	(Entraînement 1 : Retrouve dans chaque cas la masse de A  pour que la balance soit en équilibre
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	A    +  100   =  300

A    +  100 – 100  =  300 – 100

A    +  0     =  200

A    =  200

	[image: image4.png]



	

	A + [image: image5.png]



	[image: image18.png]



	
[image: image6.png]



	A    +  50   =  70

A    +  50 – ………  =  ……. – ……

A    +  0     =  ……...

A    =  ………
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	A    +  ……   =  ……

A    +  …… – ……  =  …… – ……

A    +  0     =  …….

A    =  ……
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	A    +  ……..   =  ……..

A   +  ……. – ……  =  ……. – ……

A    +  ……     =  ……..

A    =  ……
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	A + 
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	A    +  ……..   =  ……..

A   +  ……. – ……  =  ……. – ……

A    +  ……     =  ……..

A    =  ……
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